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Two successive discounts of 20% and 30% are given while selling an article. What is the ratio 
of the marked price of the article to its selling price?
एक वÖतु बेचते समय 20% और 30% कì दो øिमक छूट¤ दी जाती ह§। वÖतु के अंिकत मूÐय का उसके िवøय 
मूÐय से अनुपात ³या है?
a. 25:14             b. 21:10            c. 24:13            d. 27:16
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Arun bought an old computer and spent 110 on its repair. He then sold it to Bhola at a profit of 
20%. Bhola sold it to Chandan at a loss of 10%. Chandan finally sold it for 1188 at a profit of 
10%. How much did Arun buy the computer for?
अŁण ने एक पुराना कंÈयूटर खरीदा और उसकì मरÌमत पर 110 Łपये खचª िकए। िफर उसने इसे 20% के लाभ पर 
भोला को बेच िदया। भोला ने इसे 10% हािन पर चंदन को बेच िदया। चंदन ने अंततः इसे 10% के लाभ पर 1188 
म¤ बेच िदया। अŁण ने कंÈयूटर िकतने म¤ खरीदा?
a. 640             b. 1050            c. 890            d. 750
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The average of 21 consecutive natural numbers is 53. What is the value of the smallest of these 
21 numbers?
21 øमागत ÿाकृत सं́ याओ ंका औसत 53 है। इन 21 सं́ याओ ंम¤ से सबसे छोटी सं́ या का मान ³या है?
a. 43             b. 44            c. 41            d. 42
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A boat takes 16 minutes and 24 minutes to cover a certain distance downstream and upstream, 
respectively. If the speed of the boat in still water is 15 km/hr., find the speed  of the stream.
एक नाव को धारा के अनुकूल और धारा के ÿितकूल एक िनिĲत दूरी तय करने म¤ øमशः 16 िमनट और 24 िमनट 
लगते ह§। यिद शांत पानी म¤ नाव कì गित 15 िकमी/घंटा है, तो धारा कì गित ²ात कर¤।
a. 5             b. 2            c. 3            d. 2.5
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If A = 1300 and B = 1450, B is approximately what percentage more than A?
यिद A = 1300 और B = 1450, तो B, A से लगभग िकतना ÿितशत अिधक है?
a. 7.41%             b. 9.86%            c. 11.54%            d. 13.46%
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A goat is tied with a 10.5 meter long rope to one corner of a plot which is in the shape of an 
equilateral triangle each side of which is 16 m long. Find the area (m2) that the goat can graze 
on.
एक बकरी को एक भूखंड के एक कोने पर 10.5 मीटर लंबी रÖसी से बांधा गया है, जो एक समबाहò िýभुज के 
आकार म¤ है, िजसकì ÿÂयेक भुजा 16 मीटर लंबी है। वह ±ेý (m2) ²ात कìिजए िजस पर बकरी चर सकती है।
a. 62.25             b. 53.50            c. 57.75            d. 51.75
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Simplify the following expression:
िनÌनिलिखत Óयंजक को सरल कìिजये:

a. 46             b. 44            c. 45            d. 47
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The population of a city in the year 2020 was 200000. The rate of the growth of the population 
is 8% per annum. Find the population of that city in the year 2022.
वषª 2020 म¤ एक शहर कì जनसं´या 200000 थी। जनसं́ या वृिĦ दर 8% ÿित वषª है। वषª 2022 म¤ उस शहर कì 
जनसं´या ²ात कìिजये।
a. 233280             b. 229484            c. 221785            d. 212890
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A train running at a speed of m/sec, crosses a pole in 27 sec. Find the length (m) of the 
train.

मीटर/सेकंड कì गित से चलने वाली एक ůेन 27 सेकंड म¤ एक खंभे को पार करती है। ůेन कì लंबाई (एम) ²ात 
कर¤।
a. 320             b. 120            c. 420            d. 220
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If the height and the radius of the base of a cone are both doubled, the volume of the cone 
becomes ___ times of its previous volume.
यिद िकसी शंकु कì ऊंचाई और आधार कì िýºया दोनŌ दोगुनी कर दी जाए, तो शंकु का आयतन उसके िपछले 
आयतन का ___ गुना हो जाता है।
a. 4             b. 3            c. 6            d. 8
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A man bought a chair for 580. At what price should he sell the chair so as to gain 25%?
एक आदमी ने 580 म¤ एक कुसê खरीदी। उसे 25% लाभ ÿाĮ करने के िलए कुसê को िकस कìमत पर बेचना 
चािहए?
a. 725             b. 1080            c. 590            d. 820
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Select the number that will come in place of the question mark (?) in the following 
mathematical statement:
िनÌनिलिखत गिणतीय कथन म¤ ÿĳ िचĹ (?) के Öथान पर आने वाली सं́ या का चयन कर¤:

a. 17             b. 13            b. 9            d. 12
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What is the compound interest on 24000 for 2 years at the rate of 10% per annum, if interest is 
compounded annually?
यिद Êयाज वािषªक łप से संयोिजत होता है, तो 24000 पर 2 वषŎ के िलए 10% ÿित वषª कì दर से चøवृिĦ Êयाज 
³या है?
a. 4820             b. 5280            c. 5040            d. 6080
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A cube has sides that are 4 cm each, and the dimension of the cuboid are 2 cm 3 cm 4 cm. 
Find the positive difference between the volume of the cube and that of the cuboid.
एक घन कì ÿÂयेक भुजा 4 सेमी है, और घनाभ का आयाम 2 सेमी×3 सेमी×4 सेमी है। घन के आयतन और घनाभ 
के बीच सकाराÂमक अंतर ²ात कìिजए।
a. 120             b. 40            c. 20            d. 60
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Find the LCM of the fractions .

िभÆनŌ का LCM ²ात कर¤ ।

a. b. c. 24            d. 12
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The average of five terms is 40. If the first four terms are given as 50, 52, 35, and 46; find the 
fifth term.
पाँच पदŌ का औसत 40 है। यिद पहले चार पद 50, 52, 35, और 46 िदए गए ह§; पाँचवाँ पद ²ात कìिजए।
a. 18             b. 17            c. 16            d. 15
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P can do half of the work in 10 days and Q can do one fifth of the work in 4 days. In how many 
day both finish the work, working together.
P आधा काम 10 िदनŌ म¤ कर सकता है और Q काम का पांचवां िहÖसा 4 िदनŌ म¤ कर सकता है। दोनŌ एक साथ 
काम करते हòए िकतने िदन म¤ काम खÂम कर¤गे?
a. 15             b. 14            c. 10            d. 5
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